1105 & & (1B * ik
RA i 2

¥ &3 1F . 3R AT 111451 H20H
B iF DR

o G§- P Fp’m“\h"_'ﬁ""?’g

At

@

o
P

oM




5o ESERRETNEN SFERRIAET

e

E3 EL ]

RN RAAG

18881038

ERAN
BASEaARME
PLLTH

HEpT ERBNNETLH
rHEREEYY

e
s

1041
- 1108
1100 < 1148
(TR R TE")
"

4T Bl

P L Sk 35 Sy e ol

S 3y Ferm]

£ 44
ALBFEIHARLM-ATAT

WL e
B W LY

5= e oy ) 30 Sl

%g}"? 1103125218 (=)10:
SILE - M 2% : ;
B - mAR ilﬁ_nf{ﬁ ANsexs: _ &
R AR Gl XLBPEIMAXBE-RERE
BB - WL iEia s T
}@;‘ ‘i‘;? e b
W oom E B oM B
9:50-10:00 HE AR
LA
1. LR
10:00-10:35 2. BT EEW
3.Smile B350 W
10:35 —10:45 | W@
10:45~ 11:00  HREHFAWAEHE
11:00 ~ 11:15 | 000 HC I itk
HIBETD 001750 2 . 1M:15 ~11:30 | MEMAS - WEBEE NN G
AT ZLLDRFE &L 11:30 ~ EMENEELEA

B 1 (02)2013°430014 #1634







XULEBEPIIIFERSEXRTIIEREERER

T E&H

I11# B 173k & 1 4%
(A B4 (5 % 13, 4550+ )
1 RS iR ;%_:&
(G es 5 % 377,295~ )

FE SR Tk
(Fes1e5f
3,569, 380~ )
?‘%\«53‘ f E‘fﬁ’i

(1% F & P £ Boii

B 5% 4,979,852%)

KERP P2 R,

(111& F 4P £33

Bs & 7 714,000~ )

REIEARS ket

(111& F 4P £33

ol otz 2 LO00 LOLD - N

1114 :L:l-:l—f:li 1114 :L:L:LE 1114
1A 3H SH
1/25% 4% 1 2% 0F 1%k B hA%
110&7/5% ¢ W3 EE FP2alR JPRKRE ABERS JPZaRR | Jrz13% i
gj—ﬁﬁ i 4 H®EBE ? kRl 3 RIPNE O mEwRi AR &
Y 142 f BERE
110&11/5 TR 1A 1 8% iF 1 42% 1T 1% ez B8
EES e 1858y a3
5 &
£ KTAPEL EFRPE LFRE LERY RV APET |1age EX
3 £¥ S w3 Ede 1RER
gy ThET 1R 1fE% T 1fesa
i 148y (123
£y ThEL aimge 1A%y 14esa
i 188} (1 3







B IF= TR EEE L€

TERETETER 1114 111 1124 1124 1114
1A 2H 3H 4A sH

o TEsE | TEsE | TERK
}i@pxpam| VORR | Tl | megmr | Ries
1/24373E 2

1114
6H

1114 1114

7H

g8H

b | ETOREI | GIERERG |mETER | ARRS | TEZS
s Rikgcl BRTESE | RECER | Gk | W
REld | USmEmet | fEEXE

TrE2a
EATy

TESa
i1/
BRU R &k
=

hRE
AL




k=S

BN EBiE

=AM zn 52

S

BT IR B E

BEABERIER
(FEHEEReR)

BEEiREE

ANECHRTFE

DR

SIFBIEREE

(5SS A Emﬁﬁ ﬂgﬁﬁ (EEATRAE
e EMmR NEER oI FRRNER @ BAEHEE!)
(BAULE) ‘

AANL B

=l

ETIES

il

L

SPCihiE

EERD

AR




SEREE TR BRZERIEAR

EE Y 2RI sPCiiE

BR 52 1033 ()

BiflogolE  ABER T

SPCHHTE 1=\ KT RS




FETE R (R s EaMiER M — L2 &)

120emE S (SHEIZFT)

BAFS

I=PINE KA A

BrakEa

Ejes
P AE

ANSEE+Br HBEINE(GRE)




10



